Question Booklet No.

Question Booklet Code SLRC_ 2 02 2

C Paper : IV

Roll No.

Time Allowed : 2:00 p.m. to 4:00 p.m. (2 Hours) Maximum Marks : 175

Before filling the OMR Answer-Sheet, the candidate must ensure that all the pages from 1-64 are printed
correctly in the Question Booklet. In case of any discrepancy, immediately replace your Question Booklet.

INSTRUCTIONS

Do not open the Question Booklet before 01:55 p.m. in the Examination Hall.

Read the question carefully before marking the right answer in the appropriate circle of
the OMR Answer-Sheet.

No candidate will be allowed to enter or leave the Examination Hall during the examination hours.

Any candidate found using unfair means in the examination halls/rooms shall be
disqualified.

Candidate should clearly write his/her Roll No. in the space provided in the Question
Booklet in case of using Non-Standard OMR Answer-Sheet.

Candidates will have to sign twice. Once in the Attendance/Roll Sheet presented by the
Invigilator on duty after taking their seats in the Examination Hall, and the other, at the
time of handing over their Question Booklet and OMR Answer-Sheet to the Invigilator after
the completion of the Examination. Cases where a candidate has not signed while submitting
the OMR Answer sheet and the Question Booklet, he/she shall be treated as absent.

Candidate should do all the necessary Rough Work on the Question Booklet in the space
provided. Rough Work should not be done on the OMR Answer-Sheet or on any other paper.
If any Rough Work is done on the OMR Answer-Sheet, the OMR Answer-Sheet will not be
assessed.

There will be one single OMR Answer-Sheet for all the questions. No extra OMR
Answer-Sheet will be provided for any mistake or correction.

The OMR Answer-Sheet will be provided along with the Question Booklet. Candidate should
fill up the particulars in the OMR Answer-Sheet, i.e., Question Booklet No., Question
Booklet Code, etc., carefully with blue/black ball-point pen only.

The Examination is of 2 hours duration and will consist of 100 questions of 1.75 mark against
each question.

There is no negative marking for any wrong answer.

Candidate should note that each question is given in multilingual form, viz., in Assamese/
Bengali/Bodo/Hindi/English medium/version for his/her convenience and ready reference.
In case of any discrepancy or confusion in the medium /version, the English version will be
treated as the authentic version.

Very Important :

The candidate should make sure that the corresponding Question Booklet Code is
properly written/shaded in the OMR Answer-Sheet by him/her. For example, if the
candidate gets Question Booklet Code ‘C’, then he/she should fill up ‘C’ in the box
provided in the OMR Answer-Sheet and also shade the circle ‘C’ in the OMR Answer-
Sheet. In case of any discrepancy in the Question Booklet, the candidate should
immediately report the matter to the Invigilator for replacement.

The candidate has to return the Question Booklet along with the OMR Answer-Sheet to
the Invigilator before leaving the Examination Hall failing which he/she will be
considered absent.

SLRC-2022/P-IV/C 1



formtizent
AT 01:55 IS SIS epIFe T4+ |
OMR T&9 “[qq I JGUHS W TGIh! {Bfes 3919 SIS TGt AR A6 e |

o [T BieT 47| TES (@I AT 9 T [Toqo @ S| 9 T 4 IR
oS 7R |

® I (I 4RI SPIR TAR S[oT B AN SO Tlgydl T A PR Tevewi 3,
(S0B (&P S} [l D 1 27 |

® Non-Standard OMR JRZS 0 AAE o @5 799 Fired e 53w ~Es
[GIREGITSE

o PTG 0 Tl TolfEs /(@IeT “[qe YAIK AR IR M7, 2= (S STENCE A0l
FHS TP A2 TG TS WAF T OMR TGI91g IF eWFIFoUC Fm5es ol
R TS | (RICT 2RI $oifERs /e siqe el I FH1 91, (S (& (OSTET
eiFES e 4f T 2T |

o FIFINE FFEN 99 ARG U5l (rough) FIN eEFIFes 7l siFerE R AR |
APFNE 461 (rough) T TG A1 A S (FIC 4767 Flarers I G | Teq o[q I
@2 {541 (rough) TN *F=FIRNE I, (SFOAZ T (S TG *[@q FeHR 1 727 |

o ST 2T AW AHTF 939 Vg OMR T& a2 Rl 27 | T 20 I Wa FIRQCE
Sfoe @It Teq 79 il 727 |

® ENIFOT TS ¥ OMR Teq ~g il 27 | *[=If@ ¢z g OMR Ted “qe
RIS TH9, FTS F'T, TGV AR (FIe o1l /F 2N Je-23F CIted 79 Fl
o |

® “SIHIF TN 2 T TF eWFFoe 100 b 2 AfFT WA 2TSF0h! A @ 1.75 TSP
2 |

® E TeFq AT (PIC! AT 779 e |

® JIEER 9 f1f7q A AHINET OMR T 2[q® el /F & I9-2135 (*F_02 T2
QAN |

o “HAE (SR ARamd T+Te AR @ eFFeq PR AEIRT 24, @ PN,
e, 0T, TR T BRIAG | 92 (FIS NN A RFITS @I 4]0 pets Tizar e
(oIS PRI 2o BRAMG TRFREBIP2. 2T Wi e 9o A |

Important Instruction :

o Q% Moo @1l Siv® ATe LAFITE] T'T 776! OMR Teq #iqq 13 siz® fori =7 |
AR, ARFIAT 42 T EFIFSI T “C’ P OMR e 7iwq s dize «C?
R AR =F WWE 3@ “C’ T 33 IR AR | e [t Remie @R s{rediw
TEHNR AT TR ST ARNPIFOI a3 it 77 |

o 2 I Gl FAIT TS AN T 2SS OMR T@F “[dF FNTS LWFIFSIT
ol v = 1ifeR | SRt sferidiem Srie 3 Rt 27 |
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IGERISE]
79 01:55 T #I0d @Pofaib Y@= =1 |

OMR Tes g AL JSHC® Wan e b I 7Jtd &ifh AU TS e |

o 5! TS AP ST @ N 9w TP oo @ S2@l S8 FF QA IR
ST SRS (ST = A |

o i (FI I SPIR TAR SqETT I A TAE SEmd T AW FRPTR oo I,
W S 190 A0 Reas= F91 23 |

® T YJITIT OMR T@d “Itad &) RIS e @ 799 eRo[tad WS 2 ™8
foT(® 27 |

o “RrFIAaIE IR (e THFERS /1T At MR FIE TR0 R(A, IR S A
FCF TP AT FAK R @R TSR OMR T€a1g @R o[t s o edid
R | @ A ol /@ itg T MORRAR R A1 IR, ORE OiF StiEe I
a1°ly T 204 |

o ST AT G ARG T (rough) IS 2PE#TE (ST BT FACS ARE | 21wl
2T (rough) IS TEI2[G 1 T (FI7 LR FI9E FACS AR 1 | AW 271t @3 27!
(rough) T TEIICq I, OF €2 TER7ICGH TR a1 24 1 |

® T &TF &+ AW «FH NG OMR T6I°[@ e W@ | G (A A WG IR &
SRR (e Teaiq (e I A |

® 2R[(TF A «Hb OMR el (eq 2@ | Aa=Ics (12 (8 OMR TeReiq emitas
T, 2GR (PTG By ARG WG Tiet /T I -G oI =ll 51 00 27 |

o SR AN 2 I @R &ota 100 T e AFE @R eTeFls & &= 1.75 199 I 4
IR |

® & TG & (I YT w7 AP !l |

® 5% O (FTF G “IArFIE OMR TGR(0F <1161 /FICE I - &5 (7] 2T FACS 2(A |

o FFHIFTE OITE R T ATS 2@ @ WA 2Bt IS 2@ | @ - SPIaRl,
e, 0T, T @R QG | @3 GG TN A ORFAC @I @R SO WL @RI
P 20 BRG] ALRANTR &S W 03 9/°l) FAEH |

Important Instruction :

o “RrFIdF Moo 2eq Tt ATT e#tal FIC T OMR $eI7tad WS B @14l =F |
Trizgamat, AP AN PPTER (@IS “C? 2lieE OMR $e3ited (e 2 < ot =@
GR TR 38 ‘¢’ b FIET 0o =@ | eEtig (I SRS (e AR el [t
RIS R GR 2E#IAD I FACS T |

o ! T Is TR It A (NAFCP TS OMR T@Feitas A0zt @rpeiaiG e fires
2@ | &t A e 7S weifes I Rfte =@ |
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ferer=

I 01:55 fomf fernt stAsef v feemswt SeATeT |

TR AMYATE TS Tt gt fem Tre St @ T A |

® 3ITSE QT AR THTE Taa] [SRERE G AR TR 8] TST STHSIE @ ANRAT
BT ST 7T |

o Ifc Aian fommemmn mia war @ wen MSiEE T A Auerat fawrn, feume SRR e
T ST |

® Jf¢ Non-Standard OMR Sheet STERA™ ST, fSA=@EET MaaT-Maf I T8=1 (Roll
No.) & feremmsf &1 Srrmme Tam fort 9 |

o formEETERT ARfCHTET BH™ TATA™ /IR faarsame e gars e 9, fifaame Seer
T 3TSITe @UTETE il R w2 W g feerg 3T OMR e faersat
TREATET ST S TuTa | SRaT AR JenferT /eI feersare Ay wsf amaw 3 gars
WA 3T6AT TSATHHT STTASTTE €1 HATd BT @A o= 1E TN |

o fsarrEmn Maf MaE Y@M THT ST rough FERE GiF™ foaTgaas @l g |
feMRERT rough EETE! TR foeTsaTd TS g4 TEWH WHTS SERFl §FF 8T | fhw
feeTsama 3¢ 9 rough FERE @I 376eT R foeie@ UM WA SR AT |

o TTHE FHEMA U™ feArEEE THe” OMR A= faems A wrme | mRf Seen 19
o St st forr ferette @ s = |

o T faags armE TH OMR TR faag gmm sme | femmeamn &8 &1 OMR
ATRATE AT - : T foers Tmr om0 d@m foaemst ', waf +'s smfe safeet
YT =T TaT TEH Seu=sit @l T |

® HIEH THT 2 U= IR A feegard I9 100 HifY U= 3T WFhHe! JiFmEE-l e
e yr@m™ 1.75 TR 9T |

o I fFrafy aram™ Set gFE’ R 19 |

o frrEmT OMR AT feremgama @fer et ST T SerasTia TEs QT 31Tq WTem-T
AT |

o 3TaTe & it giaenfy amam M anieamn wisife @ foems stermi SiFmeR e
Taie SITTH, SR e, s7ar, 9, &< AR 3UiS | o ST Jres fosll T BiEeEE s -
I TS TS TSI ST SUSETe BITETRENT H7s BT §HHT T T |
Important Instruction :

o foAmrrarn e wHrEn wiwife g e % 'sEt OMR e faemsf for sermeme o
" gt A | R afed e wam wmm faemef w'e <o @t T faee fo
ST @A et e < forA A st for semwt e WrerwE e |

® 3THNT WG ARTAE fam femreamen Amfemfs smamma OMR fmam gt evna
i feetgEian ST gl ARTH | TSTee1 STHWIE FREt Taned fEems THemmE S |
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frdw

U 01:55 T | Y& Y9 Yierent 7 @ |

OMR STR-U= & 3IUFe I | Jg I fga o € gg a4t T3 AaHiges U |

o vilieT Tord T foeft wiemeff i wdian wam o wiat yET 1o wier e Bidt S i 1A
Tl < St |

o fe I ghiemeff Torq qlent 3TUTT B A1 W IfectRad FEHt 1 oot T 7, 91 39 3™
U T SR |

® Non-Standard OMR 3W-93 % 391 7q eqefl 379a1 Tet =, I gfedent # fou M0 v w
wog 9 4 ford |

o Thianefi @i frfterss g feu o ufefa /A 3fic W & IR SR T TR, Ugeh 9 3 o &
¢ 3R g IR T gf&qeht 3T OMR IT-94 f{iees i Hiad o &g | 3R foreft aliemelf 4
Iufefa /U 3ffe W e gedter T foham, a 3| wdeneff s rufeer awen s |

o wiiemeff Tt TE *1 FTEH W (rough) HH T fEaehT § feU MU T W weh | wdeefi W
(rough) T IT-9 A7 31 Ferell T8 & HITe W & L Feh | I qhiemel ST-u9 W s W
(rough) T AT 2, A T IT-T T JoTeh a1 a1 ST |

o Tt Uyt o foru udiemedi ot shae Uk OMR STR-UH € & S | Tt §H W1 91 Ig & &
for whtg riiter ser—v=t & fean wmem |

® T If&ieht < T1Y T OMR IW-97 fean smom | wieneff 39 ffde OMR IW-93 # ¥
GfEent 1., T GFETehT T I 3T HTHT 1 IS AT Torawor FraeTi & shaet el 31 et sicl-
Ui5e U | W |

® Ui ST FHA 2 FU BTN 3 ¥ GfETehl § 100 T & 3TR Jesh I o fIw 1,75 376 20 |

® TTeTd 3R o foT0 g ThRTeHeR 37eha 721 g |

o TR 1 38 T8 T 3R OMR IT-T3 W hael Tl AT AT STA-Tig< 9 § |t FIAC
WA B |

o wlieneff 379t glaen o fo7u e T T 7o gfecent w1 Teieh Sve S5 - wTfveh 8T, S — ST,
s, srel, fawdt 37t 3t | 30 ey o wren o weentor 8 foneft wehr 61 fe o wmem 9 srgfaen
B W 37T 7T i & HE W S |

Important Instruction :

o ulignedi wig gHivaa o & foh 39k g1 W9 YRaent &1 g OMR SW-U3 § &@ &1 ¥
T /T Toha T B | SCTEUREEU, A udienelt it wuA giere @ ®ig ‘C’ @, @ OMR
IW-U H e “C’ foramn gnm 3R 9= “C? Y shien &1 BRm | af uvA gl § g 9t o
30 e 9 HE femfa fore, A gema wdten Trfierss @ o wva gt agem % |

o Tlten WA BieH ¥ Uget udiendt i Fiersh o 4 OMR STR-US & WY U9 Yieaent ot s
ST BN | ST 3¢ STJUREd o w9 | THel S |
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SIS TN TR (S TS &2 S| e rige e ke wme i e
ewe e ?

(A) 1985, S]. SlgTS! (B) 1987, 2% Werc2i@l

(C) 1989, Fifewt [ (D) 1992, 3fFaT @IS

ST SR TR I I 3R FICE ST A2 R o[ @ FCf=eT ?

(A) 1985, SF. SlfTS! (B) 1987, 9 WeTc@l

(C) 1989, Fifew [t (D) 1992, 3Vl 7St

e sitfe ferfSreets firfer smsht feramcfioet wreren feman o s faerify gam @ am 2
(A) 1985, 3R, WA (B) 1987, 3g Weam

(C) 1989, wfem sfisft (D) 1992, 3few s

WA o Helre =Arrerd | fope e o 1ol wgett wieen =manete 1 frgfad i i fop frgea
fopar 2

(A) 1985, TR, WA (B) 1987, 3 Weam

(C) 1989, wrfcHr sfieht (D) 1992, s s=si

In which year did the Supreme Court of India appoint its first woman judge
and whom did it appoint ?

(A) 1985, R. Bhanumathi (B) 1987, Indu Malhotra
(C) 1989, Fatima Beevi (D) 1992, Indira Banerjee

TP BoTS SIS (OGRS I o 2P 21 =9 *[1 18 J=ACE TP 791 2 ?

(A) 1986 (B) 1988
(C) 1990 (D) 1992
SIS (SBIFR AT FH I7 21 I979 (AT 18 IS T4 TR Re T AT ?
(A) 1986 (B) 1988
(C) 1990 (D) 1992

YRASE Wi AFATSE T ARG TN FISTeAT SErEt 21 SERMHKE 18 SEREm o«
HISUTTS GHTEATE AN 7

(A) 1986 (B) 1988

(C) 1990 (D) 1992

WA H HAgH o1 TR I i sl <[ 3T ! e a9 H 21 99 § TR 18 I9 &
fem e 2

(A) 1986 (B) 1988

(C) 1990 (D) 1992

The minimum age for acquiring voting right in India was reduced from
21 years to 18 years, in the year

(A) 1986 (B) 1988

(C) 1990 (D) 1992
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TR0 T 0= SIeq el Fleroi #[1 gie ZmIes Pl ?

(A) 1911 (B) 1913
(C) 1907 (D) 1910

I TR (I I SITSA AG (FIEPTS! (T MEITS IS FC?
(A) 1911 (B) 1913

(C) 1907 (D) 1910

e AISATISTE TSfeeratn Traf T fat shashar-wh feeeliard AT 2
(A) 1911 (B) 1913

(C) 1907 (D) 1910

FSi 3 fopm o sea <Y et Bl et & feeett Tl fomam e 2

(A) 1911 (B) 1913

(C) 1907 (D) 1910

In which year did the British transfer the capital of India from Calcutta to
Delhi ?

(A) 1911 (B) 1913
(C) 1907 (D) 1910
SBAER TR 7 PR T 0% w1 ?

@) wviffg (B) w2l

(C) QMG 8.1, (D) e =%

ST S T B M A7 AN (FIE SRS 2

(A) i (B) 25! (The Hague)

(C) <AIMRGA fBF (D) fross

BRI fafSraers rers e s g g ?

A) uf@ (B) @@

(C) =3Tes (D) =i

AR AT 1 JEATT el (a8 ?

(A) " B) =

(C) aifimed (D) =T

Where 1s the Headquarters of the International Court of Justice located ?
(A) Paris (B) The Hague

(C) Washington D.C. (D) New York

J1Ge(B SBTS 3T YR (TG M TGS Hifee ?

(&) Ror AR IRTSRTF T (B) il 37 ~AfqiTs STzl

(C) o= e ISP (D) o™ == RaRes!
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TN SrEfrs @i M AT o3 TIEE PR 2

(A) o sfely RFmcs 31 41 (B) i »}I9 Toig fercareal

(C) TR Rvica IR (D) o g el

qetd AT e 6 GIFE WS A ?

(A) T TR 99T TRATE SAEEAE (B) @i SRt geeem

(C) ToamETEET SHIETAsTd g (D) T Se3TTd SEaRATRE! BRI
Tele T 1 faferitad o © i 91 shew Sniiret foham 7 o ?

(A)  feresft g wlien i aeed (B) W& 9 W Wiaay

(C) ToheH o T HrraTE (D) ferger amn w wfaee

Which one of the following steps did the Rowlatt Act incorporate ?

(A) Forced to buy foreign goods (B) Restriction on wearing Khadi
(C) Imprisonment without trial (D) Restriction on travelling abroad
femferfie @R AR =R =TS Aceiters GRE e Fiefe a3 tarz ?
(A) TS Sppt (B) 1T Syl

(C) TSPl (D) %65 SpIbl

e Safvs @ it [Ram 3 w5 cornle Sl sfam sife zrfe ?

(A) TSR oThE (B) A STHA

(C) T o0 (D) % TFOE

TS BTN MieHaT 9 Giafasni werf @a fhers 2

(A) eIt (B) f&far i

(C) Tfawi (D) =i wIf

qerets el uftye Freferfad fora waenfaes yraem w1 ufomg 2 2

(A) F g (B) wrdlt s

(C) o Fg= (D) =l 3rgeeh

Bodoland Territorial Council is a result of which of the following
Constitutional provisions ?

(A) Second Schedule (B) Seventh Schedule
(C) Sixth Schedule (D) Fifth Schedule
AR RAF-THCHl S SES ?

(A) S 2o B) fofew

(C) wfesE (D) MeeES

#P2R (Pakyong) Rewa SRIES :

(A) SIS L0 (B) Bifew

(C) wfesm (D) MeeEN
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TR IS 921 € 7

(A)  3TEUITEA T (B) fafesn

(C) wfoTg (D) fosiem

TRATT TS TSN hal R g ?

(A) ITRUTEA T (B) fufem

(C) =forgX (D) fimm

Pakyong airport is located in

(A) Arunachal Pradesh (B) Sikkim

(C) Manipur (D) Mizoram

23] XIS ST FECS SRR SI &l @i foai 20 :

A) @RI B) &2

©) = (D) ™

2RI e P BRI 7K R @ @ &l g o) a1 -

A) GRS T (B) el

©) =fs (D) ™

ST YTafaTe F3fgg Sifem arETET T TR AR grmesT 1 ¢
(A) &8 T BIS HEt (B) Wt ms

(C) #Ha (D) A

vl TS T T I T Tt Fod 319 93] SR & -

(A) T H S B) =

(C) =t (D) ==

The most common animal figure found at all the Harappan sites is the
(A) Unihorn bull (B) Cow

(C) Elephant (D) Tiger

DRYGT IEGDITS HCRIN T CToII#11S =1 &1 olre<eq Fis =11 :

(&) pfm IR (B) TS IR
(C) <IN q9CNZZ (D) TR I (9212
TR G AT SR AN @I 3R ol TS R =T

(A) e oIz (B) THICER [EIRR
(C) <INE IERE (D) TR NG (5122
I TS GUTS THIG 318 0 |- FTA11+ TMTRTS TR JoAT Mt fharst gan w9 2
(A) TR IEIIETS (B) hTEH STIIET3

(C) WHE SUTER (D) I ST MET3
FRTHI < TITEH hTcA b QI TR THT o @ I AT TTHE o 9fd & -
(A) UGS YGrTErs (B) WhIEHT SRS

(C) WHIA SUNER (D) HET TUTA MRS
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9. The Chief of the Ahom Military during the reign of Chuhungmung and the
husband of Mula Gabhoru was

(A) Purnananda Buragohain (B) Frashenmung Bor Gohain
(C) Khamsen Borgohain (D) Konseng Borpatra Gohain
10. TP DS “ofee(q (ST O 2" “izpay” Teilfy el Cafee 2
(A) 1867 (B) 1858
(C) 1876 (D) 1905
10. SIFUST SIS+ (SIS ST PITAIR (FIeT I (187 AR ?
(A) 1867 (B) 1858
(C) 1876 (D) 1905
10. < AEYRAE ATgETs fagE qrRdfH Te Ser A g e ?
(A) 1867 (B) 1858
(C) 1876 (D) 1905
10. form o § YRA o TR SIS o1 TG hi 3Ty & 778 oft 2
(A) 1867 (B) 1858
(C) 1876 (D) 1905
10. In which year the title ‘Viceroy’ was given to ‘Governor General of India’ ?
(A) 1867 (B) 1858
(C) 1876 (D) 1905
11, [fete s 12e fews Sife >l 20 :
A) IGH (B) T
(C) Siswel (D) T
11, SR =P == YIS ({79 I |
(A) 9T (B) THe
(C) s (D) =@
11. TERETE B TSd TRISEREE! iR |
(A) TR (B) =T
(C) FwRae (D) <M
11. fawg =i |
(A) TR (B) =T
(C) 3rmaen (D) TR
11. Find the odd one out.
(A) Gangtok (B) Imphal
(C) Agartala (D) Dimapur
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12. “eT13 QISP TG WERle @i Sifstaldia tirs F=oif$s ?

@A) R B) I

(C) it (D) w22
12, “313 RIS TR TEA (@i Soreiified 0 @ 2

A g B) I

(C) et (D) w3
12. T3 ERISTET BREIST § o NS Alea ¢ ?

(A fufEm (B) et

(©) (D) g
12. Tr=fciRed # & oM &1 g o FRET S 4 TeG § 7

(A) fufem (B) st

(C) T (D) ¥
12. Which one of the following groups, is the festival “L.ai Haraoba” associated

with ?

(A) Mishings (B) Karbis

(C) Garos (D) Meiteis
13. JIE 75151 TGT-7F ST (I 512 SRES ?

(A) s B) TIGF

(C) IR D) TT
13. Jlean sl Teg oK SIred (I SArEs ?

(&) SRl B) TEHF

(C) T (D) ZF
13. A fhaTrIT F1-HMST HRASTE 981 € ?

(A) 3TRAE (B) TR

(C) 3T (D) ¥FhIA
13. IS WA H HTer fohert fera 2 -

(A) I (B) T |

(C) STARH (D) FreA
13. Where in Northeast India is Kangla fort located ?

(A) Agartala (B) Gangtok

(C) Itanagar (D) Imphal
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14. “SifF” *=06! RIS @GR TS ToFs ?

A) TEm (B) e
(C) et (D) Tt
14. “SILEI" *=AM @ LG A0 TS ?
&) TEe B) e
(C) et (D) Tt
14. “diefeht” BTG TERETE EHE 6 SRS |96l § ?
(A) S gH (B) dig 9rRm
(C) Torg g (D) fog urm
14. “efepr w3 Fafofaa fra T e G aag 8 7
(A) S e (B) wiged
(©) T o (D) fég e
14. The term “Tirthankaras” is associated with
(A) Jainism (B) Buddhism
(C) Sikhism (D) Hinduism

15. T@q-5[7 OS] (Pl e STl IR TN G0 a7 72y ?

A) T (B) @l

(C) Tl (D) FeeES
15. Tex-+4 SRres (i Areis IR A0 Sl 7212 7 2

A) T (B) @

(C) TR (D) SN
15. |T-YHST YRAN 99 TSI faumn Sraresrsi Trsmaen ?

(A) g (B) Fgu

(C) W™ (D) T
15. YR WRA 1 98 TS S SHCTTCST o E1 HIHT | T8 hidl @ :

(A) =T B) Fgu

(C) wuTer™ (D) fism
15. The State of Northeast India that does not share borders with Bangladesh, is

(A) Manipur (B) Tripura

(C) Meghalaya (D) Mizoram
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16.

16.

16.

16.

16.

e afe Mg @F [P @Rel — “F[e @[ T G wE 12 =T

w ’7?

(A) TERE G (B) 3l 5isiix fsers

(C) Tall=iTeT 36 CallITat (D) o518 B

foc Srafirer g uft 19 Sfe, “Fas SR Trers SR @3 Sifi o wret 942 17 2
(A) DIIE &M (B) I i foee

(C) TallvIERe Cal¥Tat (D) AR PR

TERI TR &3 S, “IrR S STHm dem 3R 31 9@ i 2
(A) TERE ARG (B) Tt TMeR fereten

(C) TITeTRSIT Tt (D) v fiig

FrefeTfad 5 § fohem el foh “Taaaal H TG TR g 3T 38 § ol T ?
(A)  TGRIE HATSATG (B) =T TR foeten

(C) Tt s Mgt (D) v fiig

Who amongst the following said, “Freedom is my birth right and I shall have
it” ?

(A) Chandra Sekhar Azad (B) Bal Gangadhar Tilak

(C) Gopal Krishna Gokhale (D) Bhagat Singh

17.

17.

17.

17.

17.

@ T TP SN BT TS 19129 T Iz Ao (2wt 2

(A) 1526 (B) 1536
(C) 1556 (D) 1576
P G- (T T TS 2Mfers102q T T B0 2T 2
(A) 1526 (B) 1536
(C) 1556 (D) 1576
T ASYUTISE 3TeheR TR g Tora qHTaa 2 T gregrmn S 2
(A) 1526 (B) 1536
(C) 1556 (D) 1576
T <l GER TTSTS 3Teha 3R 37 o off o HEg et
(A) 1526 (B) 1536
(C) 1556 (D) 1576

The second battle of Panipat fought between Akbar and Hemu was in the
year

(A) 1526 (B) 1536

(C) 1556 (D) 1576
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18.

18.

18.

18.

18.

©ITeq [HI54 SR Seq Kigfapre! ffdibas @hol TiimeNREe A toibne [Kg
MYZS “ @79 «Ble 728 (NOTA)” RFaih! Ierae Ffafeet 2

(A) 93, 2012 (B) «@=4, 2013

(C) SIS, 2015 (D) =3RS, 2014

SRS RGeS SRTes [KiepTel FRIGE F4+ &¥ataE T (©id e 2o
“TAET e Al (NOTA)” &ITis! FCA%e 2

(A) 9T, 2012 (B) +te%d, 2013

(C) @RI, 2015 (D) S3RF, 2014

gt 98T (NOTA) @t fiifseaty aram aemgemH ?

(A) 3T, 2012 (B) Taw=R, 2013

(C) SmeE, 2015 (D) 3RS, 2014

YT o FATI ST A YR | faema gt § vaeH fased § “Iude | § IS Tl (J1er)”
Uge! SR e AR fehalT ?

(A) 3T, 2012 (B) ¥aw=R, 2013

(C) SHad, 2015 (D) 3HHST, 2014

When did the Election Commission of India first enforce the “None Of The
Above (NOTA)” in the voting option in the assembly election in India ?

(A) August, 2012 (B) November, 2013

(C) dJanuary, 2015 (D) October, 2014

19.

19.

19.

foarfore T2 (I 9% e f[he 7=y ?

(A) TV I-BTS [T SRR TS IAFG! ST |

B) Bl o7 Tarz f[ea 92RO (N3 SeATETFIRT o |

(C) 2B &Itel 2tz bl O wieee] Rl Sieq Sralierai 19T 2ie o1fEs |
(D) ST 7R FAR FUL SGATS SAFES |

THa @ RIRoTs iz 717 2

(A) VI 3-8 (delta) 74 J2 FHI 9MTZF (mangrove) I |
(B) B +|l*¥1¥ 32€ I (mica) TAW |

(C) B @ G3(b TN Al SRred Gt Keice |

(D) SRS SOV SAES J2GH (IS BN BSHIG SIES |
TR SeI37 8 77 ?

(A) g 9-gia 31 ggaf ssfgg i duw gommfa A

(B) WTa3T YgH SI5igs STie wrgent fogHu gred |

(C) WA Tre 319 A rerdel & ST SITed $: 217 |

(D) YRafd sgigs ARk e ¢ A faetisn oasmEa g |
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19.

19.

fffaa i s AT a T & 7

(A) HeTaH S g o Had ¢ HU a HI AR |

(B) < fova &1 qed 921 319 IHGH ¢ ¢ |

(C) ST 1Y Toh Y-FT &7 3 S WA & forg tfidiea 2 |

(D) 9N 6! ge8 St FAqeea @R I 6t giet oa A e |

Which of the following is NOT a correct statement ?

(A) Sundarbans delta is home to the largest mangrove forest in the world.
(B) China is world’s largest mica producer.

(C) Easter Island is a land area that is antipodal to India.

(D) India’s largest inland salt water lake is located in Gujarat.

20.

20.

20.

20.

20.

SIS ol 5o SI9F T, FIER 7l 0o FIPHS #IF W@ @I G AT 7o €S
P14 e FFS AT 7 FRBIE 21¢0) 79 wlfai ?

A 9= B) v«

(C) i (D) fof

SRCSH -ibe SRR T P @I Arstaies 7o AgR 7l T fbofee 2re
(b IS RIFS AN 7ol RO 9100 20O 2 2

A 9= (B) o

(©) =i D) fo

TRATR fommg’ 3 aifed, greui EFSH THRIRRE TS 7 TSR g
Y TSAISATE TSI TSI TR A 2

A) <@ (B)

(©) <= (D) ™

YT o TG TR o ITHR, Toh TP & o &9 H HRIAT I A & [T, Th TsTTdeh
TS ! W W A Toha THT H Teh =TT ITS U1 Ged HHT STHT TMET 2

») (B) =

(C) = (D)

According to the Election Commission of India, in order to be recognized as a
National Party, a political party must be treated a recognized political party
in at least how many states ?

(A) One (B) Four

(C) Five (D) Three
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21. WERT (©IE o< &FIe fFfifee ?

(A) RGP T (B) .54, AT
(C) RGP, T D) R.CF. “f%©
21. ‘Malgudi Days’ 225 & femafeest 2
(A) RGP, T (B) T3.511. TR
(C) IR.GF. TFFA (D) IR.. s
21, OTeNE! St ferarat A ferme ?
(A) 3R, TTEIHT (B) . 3TR. TR
(C) 3R, THT (D) 3TR.%. ufed
21. TNl S 61 T fohem i oft 2
(A) ARk, ALHI (B) .3AR. TEUH
(C) 3., T (D) 3AR.%. ufsd
21. Who wrote the book ‘Malgudi Days’ ?
(A) R.K. Laxman (B) K.R. Narayanan
(C) R.K. Narayan (D) R.K. Pandit
22. (g (22 :
(A) SAPHEF ETSR TENE (B) 3FIfq 9 1w IREFAR
(C) B A2 @RI @1 [GEFT (D) A2 IR
22. (G 2

(A) PGP @& 57 (Interstellar laser weapons)
(B) 4ite 1{7’3 W (Night vision binoculors)
(C) I Batl Aw BB WW% Tq (Crawling land mine detectors)
(D) TR SR (Unmanned ariel vehicles)
22, M AT IEH

(A) ITEAR AR U (B) TS AT gl

(C) HHEEAT UT &S HIgT SR (D) AR TR SR TS
22, gHE:

(A) T AR ERRAIR (B) Tse fosH g

(C) Tormedt ofs mmgH feeae (D) == et oS e
22. Drones are

(A) Interstellar laser weapons (B) Night vision binoculors

(C) Crawling land mine detectors (D) Unmanned ariel vehicles
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23. fI0E ST 24l (FRORI F53e (¥e)ta Sifes 2
(A) TG Bl (B) IRFTH
©) ToRER (D) fag ==l
23. T ST W@y (& THIE HETRS ?
(A)  ToERIGA AR (B) JIRFC AW
(©) EgErl (D) fag g
23. TEME BIRETE SR AT FeR TATTHH ?
(A) fireardas ammm (B) N3 T
(C) dRg=E (D) faywesn
23. Fr=faiRad = 4 9, T peaia Raaret i o1 ?
(A)  firesds amm (B) ®w U=
(C) das=w (D) g s
23. In the following list, who was a football player ?
(A) Gilbertson Sangma (B) Carfew Roy
(C) Tayebunnesa (D) Mithu Baruah
24. TS (IR T JUS: (TS I T 27 ?
Q) ot (B) TN
(C) Tl (D) TR
24. 90 @I SO egiTe: @RS SrFie 91 2 ?
(A) AR (B) &I
(C) T (D) TR
24, TEEN &9 TE BIETE! HLAT3ATS GBI ?
(A) et (B) 3™
(C) it (D) <l
24, TrforRad ® @ SF 91 ER T&1 €9 8 et § TR 141 8 ?
A) feareht (B) fvH
(C) it (D) wirEe!
24. Which of the following festival is mainly celebrated in Kerala ?
(A) Diwali (B) Onam
(C) Pongal (D) Lohri
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25. G aMef @I @RS 27 Shers Sifowy Ffafee 2
CNERERIZRZET) (B) i ST
(C) o walz D) e It
25. T3 SA60a G oflsf efie <779 Siicg SIfems FeafeeEr ?
(A) Tt Brget (B) T T
(C) i iR (D) Py <P
25. e HEYATE e TEI MR BIERTR ATGIaH ?
(A) T s (B) o= iR
(C) e == (D) o shrget
25. Torar fopen o qou war siftres! S T gr Forrs s ot 7
(A) Toem =TT (B) firgm wofix
(C) Torer == (D) firem et
25. The male lead role in which movie was played by Zubeen Garg ?
(A) Mission China (B) Mission Kashmir
(C) Mission Chennai (D) Mission Kabul
26. 2021-22 I SO ACHD (FICT W Fffeet 2
(A T2 g = (B) s (Tes
(C) Irgerat (D) 9GS o1
26. 2021-22 IR & SRR AICHE (P SoFZI N PR ?
(A s ey (B) &S el
(C) =Tgs 7|l (D) T 513
26. 2021-22 USRI IR AT STelc@! TR TARIGHA ?
(A) Ter= fog (B) 3t framm
(C) gl s (D) TH oy
26. 30§ fhE 2021-22 1 Fete U9 foha 2
(A) Tewd forea smi (B) 3ridT 33T
(C) Fger I (D) T o
26. Who presented the Budget for 2021-22 in Assam ?
(A) Himanta Biswa Sarma (B) Ajanta Neag
(C) Atul Bora (D) Ranoj Pegu
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27. RIS @4 97 FMES 7 TS SR ?
(A) TR (B) Tiemfs
©) e (D) Sl
27. I SeEire AISeT S0k (G Ihe@ TR Wi SIS ?
(A) =T B) Ffe
(©) e (D) el
27. TERM ¢ U AL CHIH el ST ¢ 2
(A) wrE (B) gefafe
(C) fegit (D) T
27. Tr=fafea & @ %im @t 7 s 7<) % gt qe wiRE g 2
(A) = (B) geAfad
(C) fem (D) TTHel
27. Which of the following river is on the south bank of River Brahmaputra ?
(A) Manas (B) Subansiri
(C) Dikhow (D) Ranganadi
28. RIS 27 feoTe (FFG! (2= B <[ SeAme (w2
(A) TR eetriaT (B) TG (<MIIaT
(C) IS2AMNS Celtetar (D) IRG! CxrEeviaf
28. 0y Searrer™ T @A 2ibiTe Sevine a2
NI RsE RS IRCIRIE (B) I CHNiwIsiE
(C) TefRsie HigetIag (D) SR coatiang
28. RN §e WY 37 TSR 719 fegaem g 2
(A) T gemEfa (B) qweiiTs HigrETfer
(C) weTéa HrerEf (D) THEA TR
28, Frferfga o & 1 € wed QU Seare 3 R 2
&) Femaé fore (B) Freime feret
() e frpred (D) e fere
28. Which one amongst the following is the oldest production unit ?
(A) Digboi Refinery (B) Numaligarh Refinery
(C) Bongaigaon Refinery (D) Guwahati Refinery
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29. RS @R I ST SPRE AN GICs H=E 723 2
INBEIRIGK] (B) e
(C) TrEEN (D) Af*ox
29. TG @S @iF Arents SRR 105 STE SReTE 717 2
(A) eieTIe (B) PR
(©) FcE=N (D) 5T
29, TERIM §& TSNS STETHSH FHT TAARITRT 2
(A) AN (B) Tuferm
(C) ™ (D) TS ST
29, Tr=faiad o @ 9 a7 U= 3EH & 1Y HHT 1S 781 Hd1 g ?
(A) NS (B) Taferm
(C) Teim (D) ufvem e
29. Which of the following states does not share border with Assam ?
(A) Nagaland (B) Sikkim
(C) Mizoram (D) West Bengal
30. 2022 T GRS TS TP @1 a9 7B 02fee 2
A) @@ (B) <
(C) SR D) @R
30. SIRFIAT 2022 S0 ST (e el (STl ZRZeT 2
(A) Jeer (B) =
(C) SRFErE D) @R
30. SHERY 2022 € FEHH ¢ Rt g AHH 2
(A) STt (B) e
(C) dqHAER (D) 78
30. A 2022 T 3TEH T I AT TeAT ST T U7 2
(A) =TT (B) e
(C) THAR (D) ErTE
30. Which district of Assam was created in January 2022 ?
(A) Bajali (B) Baksa
(C) Tamulpur (D) Hojai
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31. PPN FRR6S! MR 37 i8R GRS (@i o191 hes sTiferge srigs ?

(A) Rpep el (B) =478 LIl
(C) SI&H i (D) NS *<FrE
31. PRPTISIER oS! TN 7' SIFfRTS B sHifaree ?
(A) R epm ATl (B) =T Sl
(C) &I A (D) IS =
31. TreErr i grerfsme amE feeiga e =mie e ari Mot ¢ 2
(A) oy ST T (B) THTGS JHMH
(C) A fix (D) >fiva yeRtea
31, foranT 3 v faye 3w AT § e e e R
(A) oy ST T (B) THTGS SHTHI
(C) 3™EdR (D) sfiva vt <
31. Whose resting place is at Saraguri Chapori at Dikhowmukh, near Sibsagar ?
(A) Bishnu Prasad Rabha (B) Swargadeo Sukapha
(C) Ajan Pir (D) Srimanta Sankardev

32. Y39 FEs YFRRCS! (I BT SRR 2

A) GF AT (B) @< GRRYS
(C) @F =RIM (D) BF IS

32. T3ROS @7 efoy] FERMRER ?
A SFATR (B) =T oNIRS
(C) BF PM (D) BT IS

32. GINSTE TegRrE! HR AT 6 2
(A) TEAEH (B) % o STETgL
(C) T3 (D) TR 3T

32. Tore gl § oG <hl TATIAT I oft 2
(&) TS (B) % T TG
(C) & 3T (D) TR 3H

32. Who established the Gurudwara at Dhubri ?
(A) Guru Nanak (B) Guru Tegh Bahadur
(C) Guru Angad (D) Guru Arjan
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33. SPTRI @ETHRS SRS 1 22N SR STl (FieT ife 2

Q) wRTS AFE (B) TSI wBIe

(C) =S AFTH (D) fwrars
33. SPINII GAIMECaR &N Sfetal (& feem ?

(&) SIRME FF (B) TS9O

(C) RS AP (D) fawisne
33. TR GrayAA fifafaa smss wegh 1 genan ?

(A) 313e3 BilSh (B) 31 3R

(C) el gifgsh (D) feren =
33. i fhem o vgeh Afgan ST M off ?

(A) I3 & (B) 31 3TM3T

(C) 3ra=i &fcsh (D) frmwe
33. Who was the first female actress of Assamese Cinema ?

(A) Aidew Handique (B) Ebha Ashaw

(C) Abanti Handique (D) Vidya Rao
34. fafeiie Mz foeTe 28EEE (UNESCO) Fpe afoy CFa (P! ?

(A) SreEl w1 @ (B) aIeTPO

(C) TRt AFT (D) eI F1B ST
34. foIw Saferm wi @M UNESCO @9 afsz e 2 2

(A) ST Al At (B) WIETHO

(C) It (D) 71 AAER Ty
34. TR F=93T UNESCO M BIARIN 37 AT Y& ?

(A) TrSel eH g (B) g

(C) whmTEaT afet (D) TFE AR 513 gmmn
34, TrAfafad 9 M T n! forHd T2 & 2

(A) el 7E g (B) garerspta

(C) wHmTEA HfeT (D) A TR 3TH
34. Which amongst the following is a UNESCO Heritage site ?

(A) Majuli River Island (B) Sualkuchi

(C) Kamakhya Temple (D) Manas National Park

SLRC-2022/P-IV/C 22



35. ifeae! AR THIC faftre @< &1 i 95 ?
(A) Tl B) I =RER
(C) it (D) Reite
35. T i (watifboe Fifeane! q1gR Swpiey o Feafe 2
(A) Tl (B) I =IRER
(C) =ite (D) wRefe
35. ST FYSTN qrehaT & et 1 fwmerma e 2
(A) e (B) =ifel 311
(C) = (D) wigmE
35. ST UgE SaH fefafed @ @ fra e s i gar 2 2
(A) TATEE (B) el ATTAIS
(C) ta (D) AR
35. Kaziranga National Park does not touch which of the following districts ?
(A) Golaghat (B) Karbi Anglong
(C) Nagaon (D) Morigaon
36. I DA I3 PAERI T'© SHES
A) TR (B) FEETR7LS
(C) I (D) W&
36. G AR S N 28
A) TR (B) TR AR
(C) RSl (D) TS
36. TR TRt MEE "ew’ R g v
A) H=TE (B) FHIATATTTFX
(C) STt (D) hih
36. TRUNAIHI g™ HE |
A) 493 (B)  FETeATTTX
(C) STt (D) Sl
36. Air Asia has its headquarters in
(A) Mumbai (B) Kuala Lumpur
(C) Jakarta (D) Bangkok
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37. foraferfre (RIeE!, SoCoRE @b o “Aafb feegs 72 2
A TIg'EH-11 (B) foreria
(C) TEF=E WD D) TI%
37. <A (PG FI5CHITTe AT “Ffs 73 2
(A) T 11 (B) forers
(C) WIFPTE SR D) T35
37. TR S« AFEI HEH JARE freen 727 ?
A fEs 11 B) T
(C) HTSshiaTR %Y (D) 9%
37. T 5 8 1 &1 oy o foru ATRfe R i 2 2
A) fo= 11 (B) ferem
(C) eI HiTHa (D) g
37. Which of the following is not an operating system for Computers ?
(A) Windows 11 (B) Linux
(C) Microsoft Office (D) Ubuntu
38. IS T2q (FIFERE TE TS SIS FCH0 BT 5 F=biCe! Kbl 4l = 2
(A) L] (B) W 4l
(C) GO (D) T
38. MG SAl¥® @FRIGEE TE SIRre SAES [ZIEER I oo RO 919 a1 2 2
(A)  leeTenes] (B) W @
(C) o (D)
38. TERI S931T JTRETeTe WRAf S fermernit fufafs e s 2
(A) TS (B) =g
(C) ®ma (D) T
38. fAferfiga @ @ fopd adu™ o WRA o1 g9 S fedTer™ et o s & 2
(A) e (B) Tarcd
(C) = (D) @
38. Which of the following is presently considered as the highest Himalayan

peak of India ?
(A) Kanchenjunga (B) Nanda Devi
(C) Kamet (D) Mana
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39. ST TOIPIYTS (5! wlefdq 5w iR ?
A 4 B) 5
C) 6 D) 7
39. SIIFF AORPICS GG T I (rings) SR ?
A 4 B) 5
€) 6 D) 7
39. A TRthaTTaTTa AeY s § ?
A 4 B) 5
€) 6 D) 7
39. 3NicIoueh €l § feha Toel BId & ?
A 4 B) 5
C) 6 D) 7
39. How many rings are there on the Olympics flag ?
A4 4 B) 5
C) 6 D) 7
40. TSFHAT I 52T (2 :
(A) FET= @R (B) BN
(C) Tt (D) for
40. TSGR A =12g 29 :
(A) IJFPT QT (Buenos Aires) (B) GIFGEIeN (Santiago)
(C) <91l (Bogota) (D) ™I (Lima)
40. IOEHTH TS TRTRART 77 7
(A) = 37 (B) dfeam
(C) st (D) formn
40.  3FAET BT TFLT TR -
() = s (B) dfeam
(C) e D) e
40. The capital city of Argentina is
(A) Buenos Aires (B) Santiago
(C) Bogota (D) Lima
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41, SENE G U2 GRBE euwe fofe 1 faSiope Saq wuieme g sl
o ?
A CARTE =1 (B) wIfFesIE
(©) foeree (D) f&rerT=1%
41. SR (fossil) TofF fefie T 7SS SRR 2Ro2PT (i SR *I1<1 71 I 2
(A) GRS (Palaeontology) (B) &g9% (Archaeology)
(C) 9% (Geology) D) ?ﬁ"iﬁm (Geomorphology)
41. STEE! foe W ggReT aHE faf SRS ae s fawme dea g 2
(A)  UAST=TEAS EEIEIEINE
(C) ShaTrerst (D) STHRHIATSH
41. 3T I i H @1 SAATLH] o TR T g T SaH o 3hige 8 gafad @ ?
(A)  Shamen fgm (B) e ez
(C)  vpf e (D) ¥-3Trpfe ferm
41. Which branch of study deals with the history of life on Earth as based on
fossils ?
(A) Palaeontology (B) Archaeology
(C) Geology (D) Geomorphology
42, IR BI*l GRIF @ @GR TG TIRIT I = 2
(A)  EIRGR (B) WEIRGR
(©) RO (D) 2GR
42. IRNGEAR BI7l AR G (i TG J720 27 2
(A) TAIRGR (B) IRAIMRGIF
(C) SIFBRGE (D) ZFGIRGF
42. S TESSI SEFETR ARG Gl ?
A) AR (B) SO
(C) UfeeHiet (D) @S
42, TSI GETE i AT o 7T fohe Iuehtur v 3T fohan ST & 2
(A) i (B) Hiefiex
(C) 3redfie (D) ETEgHIE
42. Which instrument is used to measure atmospheric pressure ?
(A) Nanometer (B) Barometer
(C) Altimeter (D) Hydrometer
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43. T-CAl (o7 (&R foxT RS 79712 (IS @G| i S1gd O IfE A ?
&) =oE (B) =
(C) & (D) e
43. TI-(I (YEIICS ST 1 A(eTR F© Gel 9T S 2T 020G (WIS 07 2
A) 0 B) w
(C) & (D) A®
43. QI @l ToHTd BIEHT gHSIH HTed TG BIYRE gTal TR TMEE g fwe ?
(A) <= B
© 1 (D) f&
43. @-Wl & T U, D7 H areft T % fohd™ T BgH § Ja9 id g 3! o 96 93d 8 ?
A) 3M3 B) &
(C) (D) g«
43. In a game of Kho Kho, how many members of chasing team enters the field
and sit on their knees ?
(A) Eight (B) Ten
(C) Nine (D) Seven
44. TN RIS Gor&z 771 emieare gl s oial S T 999 Glee e @[
e a1¢ly 1 =7 2
(A) SiFRa (B) Tl
(C) FFe! D) =ow
44, SRFICEA (219, GER[AM) GERN T @A CTRIRE ez T sie 3R TR 0
fifeTe 2R ?
(A) SERA (B) &Il
(C) =l (D) *row
44. TS (AN Fergare sam) 1 Beft gmesma v s S At arm e
g & (e e e an 2
(A)  wariRed (B) 31Tl
(C) wwefd (D) wqg
44. AR o Bl T (qd | sergrae Sy § fohe wifores sftnTa A&t bt T 3R AT |
forem gom W STt B 2
(A) wrfreft (B) ARG
(C) T (D) g
44. Which mythical underground river is considered to have joined Ganga and

Yamuna at Triveni Sangam of Prayagraj (formerly Prayag of Allahabad) ?
(A) Bhagirathi (B) Alakananda
(C) Saraswati (D) Satadru
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45. frferie @MRES @00 9P el 2 ?
(A) SR (B) W% biersl
©) & (D) oM
45. f0a Sraie i I [l = 2
(A) BT Te (B) AR
(C) sl (D) ©It
45. TR SeEt e ST YA ST 2
(A feat ety (B) TEER g
(C) @ (hH) (D) &
45. frferfaa o @ fopd shie § w11 ST & 2
A) wiahisd (B) gu=E
(C) &= (D) G
45. Which of the following is measured in Carats ?
(A) Steel rod (B) Milk fat
(C) Saffron (D) Gold
46. “I'TAG (alleHl @RI S Sl TG!S :
(A) TR (B) SFHS |
(C) IW G (D) @&l fercafmel
46. i g @IS (Agnes Gonxha Bejaxhui) @R SHi&FSIE Siel I :
A) TRE (B) SFFe! AW
(C) =M= el (D) FPoIF fcafrel
46. TR SRS ST i et o aife il 2
A) fres (B) 3reufd 1
(C) HTeR <& (D) Tereer Fsfe
46. T8 T T THE T SIS T I AT €Y H AT AT 2 :
A) Husa (B) 3wufd U
(C) wet e (D) et ffea
46. Agnes Gonxha Bejaxhui has been more popularly known as
(A) Miraben (B) Arundhati Roy
(C) Mother Teresa (D) Sister Nivedita
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47. T A IEE Glrars A AHR S 2

A) Wyfm Gl (B) TR TE
(C)  «=Talb =IZTBIR (D) &+ GG
47. TP G &) TP THIe TR ?
(A) WGRE TR (B) I A
(C) SITRIG BT (D) o @G
47. R TATTHH U@ Hied (Codes) @t fegwnsm 74 ?
(A)  SSTHA Shepfer (B) dg3Tat O
(C) 3ATes AT (D) < eTS
47. AT o 7T I 1 MfashR fohe T 2
(A)  SSTHA Shepfer (B) dg3Tat O
(C) FTose HATEHIEH (D) i sRrE
47. Who invented the codes for Telegraph ?
(A) Benjamin Franklin (B) Samuel Morse
(C) Albert Einstein (D) John Baird

48. I 2T 7ATS (T (NEFA) 7GR Saiieie iifee] | NEFA J 761051 =02 :

(A) North-East Frontier Area (B) North-East Frontier Assembly

(C) North-East Frontier Activity (D) North-East Frontier Agency
48. SFODST IO 704 N NEFA 9 54 w1 1 2

(A) North-East Frontier Area (B) North-East Frontier Assembly

(C) North-East Frontier Activity (D) North-East Frontier Agency
48. STETE TEVTEA Jeu@! e NEFA 1 31 tifersm = 2

(A) North-East Frontier Area (B) North-East Frontier Assembly

(C) North-East Frontier Activity (D) North-East Frontier Agency
48. NEFA 10l €9 R 2 — 91 foh STE0MT=Iel T¢I bl Tget STHT STl AT 2

(A) North-East Frontier Area (B) North-East Frontier Assembly

(C) North-East Frontier Activity (D) North-East Frontier Agency
48. What is the full form of NEFA — as Arunachal Pradesh was known earlier ?

(A) North-East Frontier Area (B) North-East Frontier Assembly

(C) North-East Frontier Activity (D) North-East Frontier Agency
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49. e (@RRY e el 72 ?
Q) e (B) ey 5o
(C) T-ar=fa (D) ZLEH A
49. T Sais @ st 7R T 2
(A)  TRresiife (B) 9T TGS TGK
(C) ez (D) foeIarg
49. TEREM F31 WA T SRAR 78T ?
INIRELIE (B) T TN T
(C) 371 93fa (D) @@
49, frferfaa & & 9 wid 1 e frameh 72 8 2
INIREEIEI (B) U HiT T ST
(C) Towfi gt (D) dg3n
49. Which of the following is not native to India ?
(A) Chimpanzee (B) One Horned Rhino
(C) Pygmy Hog (D) Leopard
50. SRR @R SRR SRS 1B I @Y 2
(A) TRV (B) 309
(C) wize (D)
50. RIS (@0 ST TOR 91 ?
A) TRmE (B) 0
(C) o D) T
50. AT TG SIS AT 2
(A) TES® (B) 94 (Banyan tree)
(C) wiRa (D) =
50. STTIRTNGR TR T WA o1 T JH HH A8 2
(A) <EER (B) =TE
(C) diua (D) Hi=
50. Which is officially the National tree of India ?
(A) Deodar (B) Banyan
(C) Peepal (D) Neem
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51. 51 BF1 1000 “A1F LTS SO a1 7q% (20= 22 6.1, | 5l T 2 -
A) 4.5 (B) 2.1%.
(C) 2.8f. (D) 3.5 0.
51. @3 B 1000 SRS 22 fRefire e Sifoa G | 5RAfGA o7
(A) 4.5 B) 2.1%%
(C) 2.8 (D) 3.5
51. T8 @™ @ 1000 Fifeaa sma 22 . fr. Smems geemn | 9 gty v e g 31
NISIE
A) 4.5 B) 2.1
(C) 2.8 (D) 3.5
51. T Tiean 1000 Ta=Rt § 22 fop Y. o gft 7 ot what 2 | afed 1 oeem (Radius) 2
(A) 4.5 (B) 2.11.
(C) 2.84. (D) 3.54.
51. A wheel can cover a distance of 22 km in 1000 rounds. The radius of the
wheel 1s
(A) 4.5m (B) 2.1m
(C) 2.8m D) 3.5m
52. 10 9P Fres 24l Qe oS o Frve ST a2 0 SF 10! A0l 25 2]
RO [ G FHF R QoW I | FerFace] # 7156 97% 7 3 ZPT 217 |
TP 22 I R Srerd T (AR
(A) 55327 (B) 653%d
(C) 583 (D) 60 I=F
52. GIIL FE 10 T RS TR | GFE SO 220 TR IR <RI 25 I R

GG e TR M FCACRA | Forane] REFR 91T RPT 3 I 2T AR | ST
2l TRrpiae 391 27

(A) 553K (B) 65 3ITF
(C) 583K (D) 60 IF
SPACE FOR ROUGH WORK
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52.

52.

52.

a1 £ BRI M1 T8 wuEmEfer 31, |8 SR @ 3T @R A 25 SER SEi e
BRI foreema | fhem amsfed, BRifii e STy Tewm 3 3 it @Rt | snfsa
AR BRI S o ?

(A) 55 9ER (B) 65 9mER

(C) 58 ¥ MR (D) 60 IR

10 fareten 9Tt Thet §, Teh forersh Y Tanfrafe W qia 25 a9 i 311g 1 weh 1 freres fge
BT | qRTEY, ek <t STa 3Ty 3 S 1T | HaTeT e i g ©

(A) 55a (B) 659

(C) 58aY (D) 60 9%

In a school with 10 teachers, one retires and immediately a new teacher of
age 25 years joins. As a result, the average age of the teacher reduces by 3.
The age of the retired teacher is

(A) 55 years (B) 65 years

(C) 58 years (D) 60 years

53.

53.

53.

720 ST gt 2=l @2 RpieRre o131 SF @FAIEAR TRAE SIS 7 1 5 | S
1: 1 231 Sfofe eI 11 Qe TS 27 = e ?

(A) 60 (B) 120

(C) 180 (D) 240

720 & [yl 1T G B R0 (=201 QR TR S 8e1 7 : 5 | (RCE1 S (RS Sl 1
1 3CS T(E IFS FO6 (& ©fS 20O T(J ?

(A) 60 (B) 120

(C) 180 (D) 240

1 720 HIFENTHT TH BIFEAE gEEl AR fEaar sEf s99ms 3 Se™
7:5 | SJATFIAT 1 ¢ 1 SAreet, Fo™ fewsiaamn § foraaemme 7

(A) 60 (B) 120

(C) 180 (D) 240

SPACE FOR ROUGH WORK
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53.

53.

720 BT % Teh Thel H Seh! 3T TSI shl T HT I 7: 58 | FIAE 1: 1 SHH H

foru 3R fepar) wreferan st ot feam st =nfau 2
A) 60 (B) 120
(C) 180 (D) 240

The ratio of the number of boys and girls in a school of 720 students is 7 : 5.
How many more girls should be admitted to make the ratio1:1?

(A) 60 (B) 120

(C) 180 (D) 240

54.

54.

54.

54.

54.

120 &9 2@q 451 RGRPTS 45 a9 ) T Witz | I RIGRPTS T 30 & 2dg
IS S, (S0 TGS UM RIQIRPICH! A1 el Bfeta iif ?

(A) 40 = (B) 38T

(C) 36 (D) 32f™

GG ZGRIGT 120 & B/ SR G3R 45 Mo I IRIF T2 T 2R | IM SRS 30 &
2/q RG] @191 0 SR RG] TGS ! LRI T Ho1d 2

(A) 40 = (B) 38T

(C) 36T D) 32 W=

TH g 3E |1 120 HUFET € 7RI STER 37 94 45 7 9@ g | Jfe 9 gaE AeE
T 30 BUIHTSHT ATHAT, AT AT AT o FEASAT T FIfeAT g 2

(A) €M 40 (B) 9M 38

(C) ¥H 36 (D) &M 32

T BETEE § 120 BT & 3R 94 6t 3Yfd 45 fei & fotw 8 | 371 30 3R & gHEmEw §
IS B T, A HIS[ET WIS | SEmad foha- e e 2

(A) 40T (B) 38f&=

(C) 36f= (D) 32f&=

A hostel has 120 students and food supplies are for 45 days. If 30 more

students joined the hostel, then how many days the hostel will run with the
existing food ?

(A) 40 days (B) 38 days
(C) 36 days (D) 32 days
SPACE FOR ROUGH WORK
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55.

55.

55.

55.

55.

20 . Fe] QTR Seel Q9w TeTx (IETS SISER (/I SR | WY ibT (Tre 30°
Tl B SR, | FHEATTIE RIS i 1 KBTSl (2 :

(A) 10w (B) 17.32f.

(C) 8.16fw. (D) 13 .

20 foR Teafa @M W2 (ladder) S99 (vertical) SIER 2Pl @b TSI JF SR |
(B3 TR 3TCe 1 (IR A 30° | 5257 e ~ond a1 b Tovet

(&) 10 B) 17.32 3

(C) s8.16fe D) 13T

TE MYl AL A 20 . AU SRR @A g | faE g 30° @A Wi |
STTERTIT SIS 3119 BN fomgi Simgst a4 2

(A) 10 M. B) 17.32f.

(C) 8.16f. (D) 13fu.

T 20 Hiet el HEt Tk etk A W FH! §8 @ | I8 STHH o T1Y 30° T 10 S ¢ |
it o T Rl g AT foig < S @

(A) 104 (B) 17.32H.

(C) 8.16H. (D) 134

A 20 m long ladder is leaning on a vertical wall. It makes an angle of 30°

with the ground. The height of the point the ladder touches wall is

A) 10m (B) 17.32m
(C) 8.16m (D) 13m
SPACE FOR ROUGH WORK
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56. To@q %24 S9IRGIB (771 I ToRe THaes! fofoa <4 -

A) (B)

©) D)

56. TG g o6 03 oq TG = T -

A) (B)

©) D)

56. TR BTG AR SreraF! &1 Jrermi ©t grg” ?

(A) (B)

(©) (D)

SPACE FOR ROUGH WORK
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56. 3TThId *REAT A & o TTT ITRT TR 1 =3 e :

(A) (B)

©) D)

56. Select the appropriate figure to continue the figure series.

A) (B)

©) (D)

57. eMEIES BT (?) e 5 31325t 3fq wiifarm 2

14
22
34
41
53 ?
A) 14 B) 55
© 15 D) 45
SPACE FOR ROUGH WORK
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57. MRS B (7) SRS GIe 72516 373 2

14
29
34
41
53 ?
A 14 (B) 55
(€) 15 D) 45
57. diq faet 59 TS diet=ET e ?
14
29
34
41
53 ?
A 14 (B) 55
© 15 D) 45
57. AT (g (?) o T W DA © T 3 =fey ?
14
29
34
41
53 ?
(A) 14 (B) 55
(C) 15 (D) 45
SPACE FOR ROUGH WORK
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57. What number should replace the question mark (?) ?

14
22
34
41
53 ?
Q) 14 (B) 55
(C) 15 (D) 45

58. BROTHER, HUSBAND, MEN
92 XA} TR T 5754 e ARfboei afsfig a1 foain! bre it |

A) (B)

©) (D)

58. TG STl MBI T AP TFHeF @i A FANAEE SieTeid afsfiig 3@ ©f
b T :
2, R, T

A) (B)

©) D)

SPACE FOR ROUGH WORK
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58.

58.

58.

TERTE BT ATETGBRI ToRE AT HHGRE 55 %3 e BIHRIT e §1id ?

(A) (B)

(©) (D)

3 3G <hl T8 o S feU T It o s T 1 G837 Ui feed shidl g :
WTg, dfd, ey

(A) (B)

©) D)

Identify the diagram that best represents the relationship among the given

classes :

BROTHER, HUSBAND, MEN

(A) (B)
©) D)
SPACE FOR ROUGH WORK
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59. *JIT 1 56l OI1<F 50 “351< PRI @1 2 : 3 Weeire® 5 % 35 b (feet | 3770 50 #1259
@I AL (R0 :
(A) 20 B) 25
(©) 30 D) 35

59. * 1 TP G2 50 AT Y@l 2 : 3 TS 35 BIpl &1 FCACR | 50 2RO @I AR 26
(A) 20 B) 25
() 30 D) 35

59. UTSH T 50 HETHST 2 : 3 B9 UTSST ¥IW 371 T 35 T SHYAT | 50 Hamgri i 93 2
(A) 20 B) 25
(©) 30 D) 35

59. T 1 %9 o f&ani 3T 50 98 o T&ashi < 2 : 3 o 31qUTa § T 35 Tufed foham | 50 T8
fopi i oE ?
@) 20 B) 25
(©) 30 D) 35

59. Shyam stored T 35 in the form of 1 rupee coin and 50 paise coins in the ratio
2 : 3. The number of 50 paise coins are :
(A) 20 B) 25
(C) 30 D) 35

60. 2ma “Il3fba2 Wb P @I @ T IRF el Kelfers wivre w2z | foake

Tax X3 73 B (o T :

Fig. : Expenditure (in Lakhs)

(A) 90° (B) 45°
(C) 72° (D) 81°
SPACE FOR ROUGH WORK

SLRC-2022/P-IV/C 40



60. fcx Sare 3¢ fbaft b afepitTr AR TRR 2 e e FE | FER JelN ST
S[TEL P! (PIC I

o 31 ol
o : ¥ (37%)
(A) 90° (B) 45°
(C) 72° (D) 81°

60. TS TN ST A8 HATH SR GERE! fefRMAm Se | @ T (Tax) Tl a9
I @A A3 Y 7

e : T (AT 379)

(A) 90° (B) 45°
(C) 720 (D) 81°
SPACE FOR ROUGH WORK
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60. s =md ferelt feu u o & foru fomeht st & =5 o1 foreor fe@man 8 | ¢ (Tax) @S g
AN BT R

Fig. : =99 (V@ H)
A) 90° (B) 45°
(€ T72° (D) 81°

60. The pie chart shows the expenditure breakup of a company for a given year.
The angle subtended by the Tax segment is

Fig. : Expenditure (in Lakhs)

(A) 90° (B) 45°
(C) 72° (D) 81°
SPACE FOR ROUGH WORK
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61. IM72 96=6927,58 87=7885%, (OB T79 86=7
(A) 7689 (B) 8976
(C) 6897 (D) 6978
61. IM72 96=6927,58 87=7885CET9 86="7?
(A) 7689 (B) 8976
(C) 6897 (D) 6978
61. IC72 96=6927,58 87=7885,3AT79 86=7
(A) 7689 (B) 8976
(C) 6897 (D) 6978
61. ICT72 96=6927,58 87=7885 W79 86="2
(A) 7689 (B) 8976
(C) 6897 (D) 6978
61. If72 96=6927,58 87 ="17885then79 86="7?
(A) 7689 (B) 8976
(C) 6897 (D) 6978
62. M+ Q@ Q@ + @ R, = W S{qT O <’ T 29 &l &0, (S0
18 +12 x4 —5 I (22 :
(A 25 (B) 35
(C) 40 D) 33
62. M <+ AT WL 2, + AT K@ 27, ~ A QT W 4R < A Tl 2 O
18+12x4—5 9N 2A :
(A) 25 (B) 35
(C) 40 (D) 33
62. Jfg <+ I WA, 4+ I THER, — I FHIEE W % I TR BRA
18+ 12 x4 —5famrH ?
(A) 25 (B) 35
(C) 40 (D) 33
SPACE FOR ROUGH WORK

SLRC-2022/P-IV/C 43 P.T.O.



62. AR <+ w1 3 ¥ e, 4+ ok wer, 0w 7 MO IR S w1 e W R, @
18+12x4—-5HAAR

A) 25 B) 35
(C) 40 (D) 33

62. If ‘<’ means ‘addition’, ‘+’ means ‘subtraction’, " means ‘multiplication’ and
‘x’ means ‘division’, then the value of 18 + 12 x 4 — 5 1s
A) 25 B) 35
(C) 40 (D) 33

63. 7,11, 19, 31, , 67 FAGR @ Zwq RG22 :
A) 43 (B) 47
(C) 51 (D) 45

63. “HRFE SRS i =91 : 7, 11, 19, 31, , 67
(A) 43 (B) 47
(C) 51 (D) 45

63. 7,11, 19, 31, , 67 BTN 31Te T feee i o T1fR |
A) 43 (B) 47
(C) 51 (D) 45

63. 3TIFA 7,11, 19, 31, , 67 HT UG &
(A) 43 (B) 47
(C) 51 (D) 45

63. The missing term in the sequence 7, 11, 19, 31, ,671s
A) 43 (B) 47
(C) 51 (D) 45

64. AT GIAC S @2 Q, AT BI GG 7@ | FRICS B T *[Gl (2= P I GRS & P J
G 7@ (22 R | R A& Q T TS (&6 470 77/ ?

A) *PE (B) =l
©) == D) fFro
SPACE FOR ROUGH WORK
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64.

64.

64.

64.

Q T A 93 GG @, @ B €3 ¢391Q %@ | B 97 T 291 P &3 F031, TF 4G 7@ R |
R I Q €3 A T~oIfF® 2

(A) T8 (B) T

© - (D) foret

Q 3 A T 9@ & feamme S see@ B 7 w@er fharsen | B T fafg sn Pt
STrET |reel’ fR|reT R | HTER R 81 Q S didiegl g ?

A) foge B) faw

(C) Toraren (D) Tr

Q, A i 3ol I8 8, S B ST ghaildT 92T 2 | B 1 uit P i 9t 2, Toreeht weham ser 2
RIR, QHTRTTTAR ?

4) "¢ (B) = (37hel)

(C) =@ (D) fuan

Q is the only sister of A, who is the only son of B. B’s wife is the daughter of
P, who has only one son R. How is R related to Q ?

(A) Father-in-law (B) Uncle

(C) Son (D) Father

65.

65.

RGN 319 B! *TS Jleiel ST 2[ 7-7 TS ST &K GIFEI [0 12-99
F[TS SR | AW (S ST GRS A1 E el I, (5% 1 ST *[l 22-
F[TS AE | MBS JOTS Fierers o 91 S0z ?

A 19 (B) 31

(C) 33 (D) 34

AT @EATE T Al IO QTF 7 OF B GR 2 THGE @AF 12 O EIE
TR | AW O[] S 2 “If a6 I O @ Al I o (ITF 22 ©F F =T | AMre
WG TG (=20 IR ?

A 19 (B) 31
©) 33 (D) 34
SPACE FOR ROUGH WORK
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65. BIEET GBI T8 IR, ST 31 S 7 7 3719 gHiF 3T IfsH 31 e
12 T 319 g | e S@RI TEf et deeriee, ST 3 SArTtaime 22 U sma
AT | & G T ZATEThR ¢ ?

A 19 (B) 31
(C) 33 (D) 34

65. TSI ! Teh Ufad °, ofi1 919 & Arad 3R W& g @ 129 TWH W g | Af 9 oA worH
39 1 9 oid 2, a1 21 918 @ 224 T W 3T 4 @ | uferd | feped g & 2
A) 19 (B) 31
(C) 33 (D) 34

65. In a row of boys, Srinath is 7th from left and Prabin is 12th from right. If they
interchange their positions, Srinath becomes 22nd from the left. How many
boys are there in the row ?

A 19 (B) 31
(C) 33 (D) 34

66. I oI TR, (I GO MRAMSF FW 20% SF 50% TN | 7R {17 S#iTe
[elg
A 2:5 (B) 3:5
C) 4:5 D) 7:5

66. T 72fb R4 O TR (AT AAFH 20% G3R 50% @R | 7471 72157 o1
A 2:5 (B) 3:5
C) 4:5 D) 7:5

66. T I AT B AW IFRHTBR 20% TR 50% SR | o SANET AHA T8 31
94 7
A 2:5 (B) 3:5
C) 4:5 D) 7:5

SPACE FOR ROUGH WORK

SLRC-2022/P-IV/C 46



66. T HEATE U oKl T B HES: 20% 3R 50% 317k &, G T3t w1 ST & -

(A 2:5 B) 3:5
C) 4:5 D) 7:5

66. Two numbers are respectively 20% and 50% more than a third number. The
ratio of the two numbers is

A 2:5 B) 3:5
(C) 4:5 D) 7:5
67. 3 4,000 R o4 T[T 12% I oS 18 2T 7S (2R :
(A) T216 (B) 720
(C) %360 (D) %960
67. 3 4,000 G ToR 12% AR 2ITH 18 0T S 71T 7 -
(A) Z216 (B) %720
(C) %360 (D) % 960
67. SRES! SERIN 12 18R T 4,000.00 1 €M 18 3719 MRt Hg o AT ?
(A) Z216 (B) %720
(C) %360 (D) % 960
67. T 4,000 W 18 HEH | 12% Wfd o8 bl < & I1i{d F1mo I 2
(A) Z216 (B) %720
(C) %360 (D) % 960
67. The simple interest earned by ¥ 4,000 in 18 months at 12% per annum is
(A) T216 (B) 720
(C) %360 (D) %960

68. TFIT O MYF 893 @ T3¢ TR SINCE 193 (I T | TF6! FAF 47 @ 27
PRI AT S0 2=
(A) 3 (B) 25
C) 5 (D) 33

68. @I G MAICF 893 B! SISl FICHT SR*E 193 ACF | (12 WA 47 =0 Sl
T ST AP

A) 3 (B) 25
©) 5 (D) 33
SPACE FOR ROUGH WORK
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68. HHH ARTHARE 893 S THeAT Mg ATATS! 193 | o WG IFNHRET 47 S TS AT
AT S8 ST ?
A) 3 (B) 25
(C) 5 (D) 33

68. & Ush AT bl 893 T forwrfora fomam <mam & a1 AW 193 U &1 & | SHY & Bl 47 W
forfora s W B
(A) 3 (B) 25
© 5 D) 33

68. When a number is divided by 893 the remainder is 193. If the same number
1s divided by 47, the remainder will be :
(A) 3 (B) 25
(C) 5 (D) 33

69. (PIGTI G AFFIPIT &2 AU GARTCAT 51T 12:30 & 10 ferG wsic terpiszs
¥ FE | GRRE RF @3.f8. 9@ 20 WG SR termioze 2@ SRR | 9.1,
S AP fogifae e 30 b “emis wifzfes | A s T
[ee
(A) 12:50 e (B) 12:40 it
(C) 12:00 et (D) 12:10 It

69. ORI AFFITE WS & T T 12:30 906FF 10 WG #d 2t e |
AR @3.F8. T = 20 F6 e Mtar | @958, ArwiedR (eg™ e a1 1w
T 30 G RITS CATTRIRT | AFPIPIF ST 7R fae
(A) 12:50 96 (B) 12:40 96t
(C) 12:00 9= (D) 12:10 9%

69. T GAI AN 37 Tafe &1 31 12:30 I 10 fire fvm gre. wa.fs. 1w 20 fire

Tom wifgfiric o gren | waLfe. o1 sy T am@Em o @ wmiw® 30 fiMe e
Qe | 3oty T arEm forarem = sman 91 5  ?

(A) 12:50 et (B) 12:40 Tt
(C) 12:00 fe=T (D) 12:10 Tt
SPACE FOR ROUGH WORK
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69. 3L, HIGTHR i % [T 12:30 &5 § 10 e vt Bt o ot a1 2 | I MLD. &
20 TirTe Tget 37et TR T | AT o TH % AR M.D. 30 fire o & uga | areaiehi
w1 frgifea v o
(A) 12:50 & (B) 12:40 s
(C) 12:00 s (D) 12:10

69. The Chairman enters the Assembly Hall 10 min before 12:30 hours to
conduct the interview. The Chairman was 20 min earlier than the MD. The

MD was 30 min late as per time fixed for the interview. The time fixed for the
Interview was :

(A) 12:50 hours (B) 12:40 hours
(C) 12:00 hours (D) 12:10 hours

70. 2,6, 18, 54, ...... SEIFACGR S IR (2R

(A) 4370 (B) 4374
(C) 7443 (D) 7434
70. 2,6,18,54, ...... G wEy ARG
(A) 4370 (B) 4374
(C) 7443 (D) 7434
70. 2,6,18, 54, ...... HIRETE U 8 4 fergrasn sem
(A) 4370 (B) 4374
(C) 7443 (D) 7434
70. 3ATHE 2, 6,18, 54, ...... HI MBI IS 2 :
(A) 4370 (B) 4374
(C) 7443 (D) 7434
70. The 8th term of the sequence 2, 6, 18, 54, ...... 1S
(A) 4370 (B) 4374
(C) 7443 (D) 7434
SPACE FOR ROUGH WORK
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Q. 71-80 : Read the passage carefully and answer the questions given below :

At last the bomb was made. The site chosen for the test explosion was the
desert region north of Almogordo, two hundred miles from Los Alamos. The
bomb was taken by road and placed on a gaunt tower, one hundred feet high
and weighing thirty-two tons, erected on the top of a hill. The code name for

1t was Zero Hill. Zero hour was 5:30 a.m. on Monday, July 16, 1945.

Oppenheimer himself was at the control centre about nine miles from
Zero Hill. There were a thousand spectators including scientists, government
officials and a strong security force. All not on duty were told to lie down flat,

face and eyes directed towards the ground and with the head away from zero.

At forty-five seconds to zero hour Dr. Joseph L. Mckibban of California
University set in motion a weird master robot which set other robots in
motion. More than five hundred miles of wiring were used to start the bomb.
Electronic impulses were set in motion and relayed messages; electrons
moved into position. Observers stood with coloured film over their eyes and

heads averted.

Overhead two B-29 super fortresses hovered, equipped with recording
instruments to test reactions in the atmosphere. Ten seconds before zero

hour a green flare warned the spectators to keep down. Then came the

blinding flash.

The whole area was suddenly brighter than the brightest day light, and
the bomb was a ball of fire. Even at nine miles, the heat was scorching. Then
came the tremendous roar and the heavy pressure wave, which knocked
down two men outside the control centre. And then came the cloud — the
mushroom cloud, all the colours of the rainbow, ironically beautiful surging
upto over 40,000 feet, over 10,000 feet higher than Everest. The great steel
tower had gone. Lead lined Sherman tanks took scientists towards the huge
sloping crater where it had stood, to see the effects of radiation on the surface

of the earth.
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71. Who was at the control tower ?
(A) Oppenheimer (B) McKibbon
(C) both Oppenheimer and McKibbon (D) Government officials
72. It i1s implied in the passage that the spectators were told to
(A) lie down flat, face and eyes directed towards the ground and with the
head away from zero.
(B) cover their eyes with coloured films and keep their head averted.
(C) lie down flat, face and eyes directed towards the ground and with the
head towards zero.
(D) cover their heads with coloured films and eyes closed.
73. B-29 superfortresses and Sherman tanks are used to
(A) check the effect of the bomb on the ground and air respectively.
(B) check effect of radiation on the ground and air respectively.
(C) check effect of radiation in the air and ground respectively.
(D) check the effect of the bomb on the great steel tower.
74. The beauty of the mushroom cloud is ironical because
(A) It knocked down two men outside the control centre.
(B) Of the devastating nature of the bomb.
(C) The bomb destroyed the steel tower.
(D) Clouds are not devastating.
75. A synonym and antonym for the word Scorching would be

(A) Searing, Soothing (B) Searing, Burning
(C) Soothing, Cooling (D) Soothing, Heating
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76.

Zero Hill was located in

(A) Desert region of Almogordo

(B) Desert region of Los Alamos

(C) Desert region north of Almogordo

(D) Desert region south of Almogordo

71.

Hover means
(A) To remain in the air at one place (B) To move to and fro

(C) To circle around (D) To move up and down

78.

The bomb exploded

(A) emitting heat, sound and heavy pressure wave
(B) emitting cloud and cloudburst

(C) without creating much physical disturbances

(D) creating a lot of physical and mental disturbances

79.

Electronic impulses
(A) were not effective (B) relayed messages

(C) warned the spectators (D) greeted the spectators

80.

The spectators included

(A) scientists, government officials and a strong security force.
(B) scientists, artists and a strong security force.

(C) scientists, a strong security force and footballers.

(D) scientists, technicians and a strong security force.
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81.

81.

81.

81.

81.

D, q, v GG FSB! TR TS p FE q IFANG. q, HFE qAFr IAANL. r | p, q
I r 931972, (2R :

A g B) r

©) aqr (D) par

p, q, T 9Tl TS RA AMTS p 8 q I AAG. q, €R qEr YT AAG. r | p, q €1 9T
1.8, 3(J :

A q B) r

©) ar (D) par
p,q,rmﬁqwmm@ﬂapmqﬁgw.w.qu,qmrﬁg‘iﬂ'[.w.
IS 1 | p, g AW r 1 g.3m90. A= AT ?

A q B r

© ar (D) par

p, q, r < TEITE 36 TR g T p 3N ¢ & oy gamesd (LCM) q 8 3R q 91 ¢ &1
AT T ¢ 7 | p, o 3R r 1 TLTH qH9E B

A g B) r

©) ar (D) par

p, q, r are three numbers such that the LCM of p and q i1s q and the LCM of
q and r is r. The LCM of p, q and r will be

A q B) r
©) ar (D) par

82.

20 i1, / BTFe a9 aifet@ars sfet &t 100 6 T @er @@eiSt 1 6.0, rf @ee
VER 7119 28TS (@IS /TS RKpaie] T

A) 45T (B) 50 T
(C) 55 (D) 60 S
SPACE FOR ROUGH WORK
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82.

82.

82.

100 B T @fs @@aml &ifs ETrce 20 G wifen sttt 1 [esfits Teafa o1
o 1 | FEANCIOT (T SAods] FACS AT 19T :

A) 45TTFY (B) 50 PIFe

(C) 55 TTFS D) 60 TS

100 fi errzemsf~ 18 27 a1 1 fop. T, emeeumsty gremat 20 ./, wewm Mt I | et
TR S ¢ 3T 98 HqH AR ?

(A) 45° (B) 507

(C) 554 D) 60%

T 100 HieX @&t ¢4 20 H./Hehe 1 THEHH T & Ford! g3 1 foh.Hi. & & o I IR
HA ] | gl T IR L o fore 37 g foran men awar 2

(A) 45 TS (B) 50 Tehs

(C) 55THe (D) 60 Ths

82. A 100 metre long train moving in a uniform speed of 20 m/sec crosses a
bridge of length 1 km. The time taken by the train to cross the bridge is
(A) 45 seconds (B) 50 seconds
(C) 55 seconds (D) 60 seconds
83. 0.037 T S MG (2R :
37 37
(A) 990 B) 999
37 37
© To0 D) Too0o
83. 0.037 (3 SHRH TSRS FC
37 37
A) 990 (B) 999
37 37
© 150 D) 1000
SPACE FOR ROUGH WORK
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83. 0.037 CICICICIEA RIS INIEIR]
37 37
(A) 990 B) 999
37 37
© Too D) T000
83. Tk =% ®IT 0.037 1 TUTAWT &
37 37
A) 990 (B) 999
37 37
© 700 D) 000
83. The conversion of 0.037 in the fractional form is
37 37
A) 990 (B) 999
37 37
© 700 D) 000
84. —76F 3Td 2T FCE &l SISICR (22 :
A -1 (B) 1
© 2 D) -2
84. —76 (F 3 G B! ©l5l FACT SN :
A -1 B) 1
© 2 (D) -2
84. —76 @ 3 I THIscl HHHTT TSR SR
A -1 B 1
© 2 (D) -2
SPACE FOR ROUGH WORK
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84. —76 %I 3 faUTeH T W I AT R -
A) -1 B) 1
< 2 (D) -2
84. The remainder when —76 is divided by 3, is
A -1 B) 1
© 2 (D) -2
85. @bl QO (FIPTR 1 : 3 : 4 : 7 SIS SR | A5 ST I @l AT 2o
A) 120° (B) 140°
(C) 144-° (D) 145°
85. b TOSLEH (PR SIS 1 : 3: 4 : 7 | J2EN G o (el 72(61 A1 -
(A) 120° (B) 140°
(C) 144° (D) 145°
85. Y JTETI=rsl THTHRI FHUTE ST 1: 3 : 4 : 7 | UHAUR AR oA @ATH BRI

AT ST

A 120° (B) 140°
(C) 144° (D) 145°
85. THAGHI F BT HIIU 1:3:4: 72 | T8 I 3T TH B HIVT & s T T 2
(A) 120° (B) 140°
(C) 144° (D) 145°
85. The angles of a quadrilateral are in the ratio of 1 : 3 : 4 : 7. The difference
between the largest and the smallest angle is
(A) 120° (B) 140°
(C) 144-° (D) 145°
SPACE FOR ROUGH WORK
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86. /20 x 45 +4/0.04 ++/0.64 I (22 :
(A) 26 B) 31
(C) 36 D) 41
86. /20 x 45 +4/0.04 +/0.64 §F T
(A) 26 B) 31
(C) 36 D) 41
86. /20 x 45 +1/0.04 +~/0.64 3 7 371 &
(A) 26 (B) 31
(C) 36 (D) 41
86. /20 x 45 +4/0.04 ++/0.64 FTAFR :
(A) 26 B) 31
(C) 36 D) 41
86. The value of /20 x 45 +1/0.04 ++/0.64 is
(A) 26 B) 31
(C) 36 D) 41
x 2 3x + 5y 6x+4y
87. ﬂﬁy—S,CoC@Sx_w 6x—qu
1 2
@) 3 ®) 3
1 2
©) —3 D) -3
x 2 3x + 5y 6x+ 4y
87. zrfﬁy_ S TS g gt oy M
1 2
@) 3 ®) 3
1 2
©) —3 D) -3
SPACE FOR ROUGH WORK
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87.

87.

87.

_ﬂﬁg_g 3x+5y 6x+4y

= ?
vy 3 g Ay ex—y -

1 2
A) 3 ®) 3
1 2
© -3 ® -3
x 2 .3x+5y 6x+4y .
v =3 Mgy py t er_y TRE
1 2
») 3 ® 3
1 2
© -3 D) —3
x 2 3x+5y 6x+4y .
Ify—3, then 3x—5y+ 6x—y 1s equal to
1 2
@ 3 ®) 3
1 2
© -3 ® -3

88. I TR ABH! T ARAFF @lorFet 190 2, (OB HBIZSF 7 FRAGI 2 -
(A) 40 (B) 19
(C) 38 (D) 36
88. W I #1565 Ffare M2 (@IaFe 190 2, O SIWa T Foos 171 = -
(A) 40 (B) 19
(C) 38 (D) 36
88. WA WY (AR N) AN SEEEA Ife 190, S6RMH AGH a3Hgs gaied
SATSTHET AT ?
(A) 40 (B) 19
(C) 38 (D) 36
SPACE FOR ROUGH WORK
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88. Ife Uie SHATTA TAT3T 1 AW 190 B, a1 370 § Tl DI T &
A) 40 (B) 19
(©) 38 (D) 36

88. If the sum of five consecutive numbers is 190, then the lowest number
amongst them is

A) 40 (B) 19
(C) 38 (D) 36

89. «bI 7f<faaf T 21T 2450 T {791 I AN 7o FLICHT (2 :

A 2 B) 3
© 4 D) 5
89. TSN IR A AN 2450 (F @< T 7J<f q0f Tolere 2| AR GIIG =
A 2 B) 3
€ 4 D) 5
89. T IHNMNI 2450 Tl AHSTSIeA! ST 3T &7 STHTH ?
A 2 B) 3
© 4 D) 5
89. U TEH BIE HEAT @ 2450 1 T of 7 M o Tord 7o fehan ST =nfed, ag 2 -
A 2 B) 3
© 4 D) 5
89. The least number by which 2450 must be multiplied to make it a perfect
square, 18
A 2 B) 3
© 4 D) 5

SPACE FOR ROUGH WORK
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90.

90.

90.

90.

90.

AW eI o 20% RN I =, (S (519 M0 =R i IR BT @I (i
*S1 BT < 3711 ?

@) 132% B) 142%
2 2
©) 152% D) 162 %

T D" T 20% e = o AR B G929 7 o TS 21 TS 490
SRS A ?
2

@A) 13%9% (B) 1429%
3 3

©) 152% D) 162 %

Sfe it s8aT 20% S TS TH TG 3 6 9 @ T ATReHT o Sagi- SRt
GHRANH ?

@) 132% B) 145%

©) 152% D) 162 %

afg =t 6t i § 20% i Ifg B 7, dF T afEr B =R % e F ferad o
i} T =TET dTfeh si5te THE @ ?

2 2

@A) 132% B) 142 %
©) 152% D) 162 %

If the price of sugar increases by 20%, by what percentage should a
household reduce its consumption of sugar so that the budget remains the

same ?
@) 182% B) 142%
©) 152% (D) 162%

3 3

SPACE FOR ROUGH WORK

SLRC-2022/P-IV/C 60



91. Choose the correct pair of words which are ANTONYMS of each other.
(A) Lazy — Indolent (B) Glide — Drift

(C) Entire — Total (D) Obligatory — Voluntary

92. Choose the option which will best replace the underlined words in the

sentence to make it correct :

“She done it to quick so it came out looking rough.”

(A) done it too quickly (B) did it too quick

(C) did it too quickly (D) did it to quickly

93. Choose the correct option which best explains the meaning of the idiom

“To give up the ghost”.
(A) To exorcise a ghost (B) To die
(C) To be possessed by the devil (D) To worship the devil

94. The application letter and the resume perform :
(A) the same task (B) two opposite tasks

(C) overlapping tasks (D) two different tasks

Q. 95 to Q. 98 : Insert the correct options in the blank spaces :

95. The tenants were asked to throw all recyclable trash into __
(A) the green big plastic bag
(B) the big plastic green bag
(C) the big green plastic bag

(D) the green plastic big bag
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96. The process uses an innovative digital technology the products with as

many colours as the image contains.
(A) that imprints it (B) that imprints

(C) that it imprints (D) that imprints on

97. 1 quoted it from .

(A) Mind (B) Heart
(C) Soul (D) Imagination
98. The company because of the prolonged strikes and lockouts.
(A) went into black (B) went into green
(C) went into yellow (D) went into red

Q. 99 - Q.100 : Choose the correct pair of words which are SYNONYMS of each

other.
99. (A) Regent — Substitute (B) Monotony — Variety
(C) Ancestry — Posterity (D) Precept — Example
100. (A) Vacillate — Waver (B) Oscillate — Stand
(C) Undulate — Flow (D) Spiral — Drip
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